4 BUOA TPE3BYYUU U UX OBPALLEEHUA

TPE3BYYUA CEKCTAKKOPAbI KBAPTCEKCTAKKOP[bI
MAXXOPHbDIE .53 = 6.3 + m.3 6.6 = M.3 + 44 .64 = 4.4 + 6.3
MUHOPHBLIE M.53 = M.3 + 6.3 M.6 =6.3 + 44 M.64 = 4.4 + M.3

YBEJINHEHHDIE

¥B.53 = 6.3 + 6.3

¥B.6 = 6.3 + ymM.4

¥B.64 = yM.4 + 6.3

YMEHbLUEHHDIE

YM.53 = M.3 + M.3

YM.6 = M.3 + yB.4

YM.64 = yB.4 + M.3

553 = 6.3 +M.3
bg = M.3 + 4.4

B° =u.4 + 6.3

M53 =mM.3 + 6.3
M5 = 6.3 +u4.4

M% = 4.4 + Mm.3

yBs3 =6.3+6.3
¥YBg = 6.3 + yM.4
yB®, = ym.4 + 6.3

ym>; = M.3 + M.3
YMg = M.3 + yB.4

ym®, = yB.4 + M.3
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